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Mon 25th

1st
Paul Sc & Guttorm
59%
2nd
Lars L & Hans V
54%

Wed 27th 

1st
Aloan K & Per-Ake
63%
2nd
Small and Short
61%

Fri 29th 

1st
Paul Q & Hans V
58%
2nd
Bob P & Werner
58%
Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
 
♠ KQJ4
With Hand A partner opens 1♥.
♥ Q109
(a)
What do you bid?

♦ AQ1072
(b)
Suppose you choose 2♦ and partner bids 2♠, what now?

♣ 9

Hand B
 
♠ KQ103
With Hand B partner opens 2♥  (a) what do you bid?
♥ -
(b)
Suppose you choose Ogust 2NT and partner bids 3NT
♦ AQJ42

(♥AKQxxx and nothing more). What do you bid?
♣ AK107


With hands C and D you are playing an intermediate 2♥ opening, 11-15 with a 6-card suit, 
with Ogust 2NT responses:

Hand C
Hand D
With Hand C partner opens 2♥ (11-15), what do you bid?
 (you have Ogust available if you want to find out more).
♠ AJ765
♠ KQ103
♥ -
♥ -
With Hand D partner opens 2♥ (11-15), (a) what do you bid?
♦ Q73
♦ AQJ42
(b)
Suppose you choose Ogust 2NT and partner bids 3♦
♣ KJ764
♣ AK107
(lower range points but good suit). What do you bid?

Bidding Sequence Quiz

E
1♥
pass
2♦
pass

 

2♠
pass
4♣


What does 4♣ mean?
“Scandinavian 2♥/♠ bid” – part 1


Board 3 from Friday 22nd April

I played with Per-Ake on Friday, and we agreed to play 2♥/♠ opening as 11-15 with a 6-card suit. He had a set of complicated responses and I said let’s simply play Ogust, which seemed very sensible to me, and he agreed. The opening came up quite often and I like it.

Dealer:
♠ AJ765



Table A
South
♥ -

West

North
East

South
E-W vul 
♦ Q73

-

-

-

1♥

♣ KJ764


pass

1♠

pass
(1)
2♥
pass


2NT

pass

3NT
♠ 2

N
♠ K9843

all pass
♥ A932
W
E
♥ K76


♦ 965
S

♦ K108

Table B (playing an intermediate 2♥)
♣ 108532


♣ Q9


West
North(C)
East

South


♠ Q10


-


-

-

2♥
(2)
♥ QJ10854




pass

pass
(3)
2♠
(4)
pass
♦ AJ42


pass


dbl

all pass
♣ A


Table A:
(1)
Obviously East keeps quiet when North bids his suit. 
Table B:
(2)
This was my partner Per-Ake, 11-15 with six ♥’s. 


(3)
What did you bid with this North hand C in this week’s quiz? Playing Ogust 
you can enquire about how good partner is, but to me it seemed that game was unlikely because of the gross misfit and so I decided to pass. You never know…
(4)
Who can blame East for bidding? With North silent and ♠’s not being mentioned it seems quite reasonable to bid 2♠ in the balancing seat.
And what happened? 2♠* went for 1100. It is possible for North to make a game (3NT or 4♠) but it’s not easy. Deep finesse says that North can make 3NT or 4♠, South can make only 2NT or 3♠, and 2♥ is the limit in ♥’s. At the club results were 4♥-1, 3NT-1 and 3NT+1. Had 2♥ been passed out that would have been a good score for N-S at Table B anyway.
The bottom lines:
· East’s 2♠ bid at Table B was very reasonable, and I would expect most would make it. After the hand was over he asked North why he had not bid with 11 points. The answer lies in the beauty of this opening bid – it is limited to 15 points and with a void in partner’s 6-card suit it is not that likely that game is there, so pass! And of course, you never know, East may well bid in the pass-out seat and then you can double anything.
“Scandinavian 2♥/♠ bid” – part 2


Board 8 from Wednesday 20th April

Dealer:
♠ A642



Table A
West
♥ 109874

West

North
East(B)
South
love all 
♦ 8

1♥
(1)
pass

2NT
(2)
pass

♣ J98


3NT
(3)
pass

pass
(4)
all pass
♠ 5

N
♠ KQ103

Table B (playing an intermediate 2♥) 
♥ AKQJ65
W
E
♥ -

West
North
East(D)
South

♦ 975
S

♦ AQJ42

2♥
(1)
pass

2NT
(5)
pass
♣ 632


♣ AK107


3♦
(6)
pass

4♥
(7)
all pass.

♠ J987


♥ 32


♦ K1063

♣ Q54


Table A:
(1)
This pair play the usual “Pattaya Standard” and West opened 2♥. It’s a bit good for 2♥ in my style and I prefer 1♥ or possibly 3♥.
(2)
What did you bid with this East hand B in this week’s quiz? Playing Ogust it’s easy – ask for more information about partner’s hand. 

(3)
AKQxxx and out

(4)
Knowing of the 6 solid ♥’s opposite, 4♥ seems clear to me. You are 100% sure that there is no entry to partner’s hand if you play in NoTrumps.
Table B:
(1)
This is how it would go if I was partnering Per-Ake. 11-15 with six ♥’s. In my (and Per-Ake’s) opinion, the solid ♥ suit makes it worth an upgrade to 11 points.


(5)
What did you bid with this East hand D in this week’s quiz? Playing Ogust it’s easy – ask for more information about partner’s hand.

(6)
Playing 11-15, it’s minimal with a ♥ good suit.

(7)
Knowing that partner is minimum with six good ♥’s, it’s now easy for East to bid the best game (and stay out of a slam).

And what happened? Three pairs out of four played in the difficult 3NT and one in 6NT. Nobody found the superior 4♥ contract.  

The bottom lines:
· I don’t know the bidding of all tables, but three pairs played in the poor 3NT.

· I’ve never played it before, but I rather like Per-Ake’s simplified variation of 2♥/♠ openings: 11-15 with a six card suit. However, I do feel that this treatment needs Ogust responses rather than the ‘complex’ Scandinavian responses which I believe are used with a more restricted point range. With a traditional weak 2♥/♠ open a Multi 2♦.

Dave’s Column
West
East
West

North
East

South

♠ 542
♠ AKJ3

-

-

2♣

pass
♥ 652
♥ AKQJ10
 
2♦

pass

2♥

pass
♦ 8542
♦ AK
 
2NT
(1)
pass

3♠

pass
♣ J75
♣ AK

4♥
pass

6♥
all pass
2NT at (1) was apparently a negative. You are East, declarer in 6♥ on the ♦J lead. Plan the play after you win the ♦A. 
Dave’s Column Answer




Board 10 from Wednesday 27th April
Dealer:
♠ Q987



Book Bidding
East
♥ 984

West

North
East

South
both vul 
♦ Q73

-


-

2♣

pass

♣ Q95


2♦

pass

2♥

pass
2NT(1)
pass

3♠

pass
♠ 542
N
♠ AKJ3

4♥

pass

6♥

all pass
♥ 652
W
E
♥ AKQJ10
 
all pass
♦ 8542
S
♦ AK
 
♣ J75


♣ AK
 

♠ 106

 (1)
apparently negative in their style.

♥ 73

 
♦ J1096
How do you play 6♥ when the ♦J is led?
♣ 108642
East took the ♦K, drew trumps, cashed a fourth trump and then led the ♠A, ♠K and a low ♠. North took the ♠Q and the ♠9 defeated the contract.
The best line is to lead a low ♠ at trick two. You regain the lead, cash only two trumps and then take the ♠A and ♠K. You are safe if the ♠Q falls or, as in the actual deal, if a defender with ♠Qxxx also has the third trump.

And what happened at the Pattaya bridge club? Nobody was in 6♥. Results were 6NT= twice, 6NT-1, 3♥+3 and 1♥+4. Amazingly two players apparently did not consider this East hand good enough for a 2♣ opening? One opened 2NT and one opened 1♥!
Dave’s  2nd Column



North
South
West
North
East

South

♠ K94
♠ QJ1085
-

-


-

1♠


♥ K2
♥ AJ5
pass
2♠

pass

4NT
♦ A76
♦ K42
pass
5♥

pass

6♠
♣ 86432
♣ AK
all pass
You are South, declarer in 6♠. West leads a ♠ which East wins with the ♠A and returns a ♠. Plan the play.
Dave’s 2nd Column Answer

Board 15 from Wednesday 27th April
Dealer:
♠ K94



Bidding
West
♥ K2

West

North
East

South
E-W vul 
♦ A76

-


-

-

1♠

♣ 86432


pass

2♠

pass

4NT
pass

5♥

pass

6♠
♠ 62
N
♠ A73

all pass

♥ Q9763
W
E
♥ 1084
 
♦ J853
S
♦ Q109
West leads a ♠ which East wins and returns a ♠
♣ Q5


♣ J1097
Plan the play. 

♠ QJ1085

 
♥ AJ5

 
 

♦ K42


♣ AK

If West had led a ♦ that would have defeated the contract – when East gets the lead with the ♠A another ♦ removes a vital entry to dummy.
But West chose a trump lead and you have two chances to make the contract: the ♥ finesse, or the ♣’s dividing no worse than 4-2. The latter is clearly better. But if the ♣’s are 4-2 you need three dummy entries: Two for ♣ ruffs and one to return to dummy to cash the long ♣. If you are careful, you have those entries: the ♥K, the ♦A and a ♥ to ruff.

So, after a ♠ to the ♠A and winning the second trick, unblock the ♣AK. When both opponents follow, cash the ♥A, play a ♥ to dummy’s ♥K, ruff a ♣ in hand, trump the ♥J, ruff another ♣ and draw East’s last trump. Finally, play a ♦ to dummy’s ♦A and cash the ♣8, discarding your ♦ loser.
And what happened at the Pattaya bridge club? Nobody was in 6♠. Results were 3NT+3 twice, 4♠+2, 4♠+1, and 3NT=. 

The bottom line: Count your tricks and entries.

What is that bidding?




Board 20  from Monday 28th April

Two experienced players did not understand / criticised East’s bidding on this deal.

Dealer:
♠ A63



West

North
East(B)
South

West
♥ 652

1♥


pass

2♦
(1)
pass
both vul 
♦ J

2♠

pass

4♣
(2)
pass

♣ QJ10732


4♦
(3)
pass

4NT

pass
6♦
(4)
pass

6♠

all pass
♠ 9852

N
♠ KQJ4

 
♥ AKJ87
W
E
♥ Q109


♦ K64
S
♦ AQ1072


♣ A


♣ 9



♠ 107


♥ 43

♦ 9853


♣ K8654



(1) What did you bid with this East hand B(a) in this week’s quiz? His was per-Ake and I  totally agree with this bid which is far better than 1♠.

(2) What did you bid with this East hand B(b) in this week’s quiz? This is a great bid – a splinter agreeing ♠’s. Again, a perfect bid, but unfortunately neither his partner (and also the experienced South) understood the bid.
(3) A 4♥ cuebid seems clear assuming you cue aces before kings, but West did not understand East’s bidding.

(4) Again, with no clue what was going on.

And what happened? Slam was easy to bid and four out of five got there.

The bottom lines: 

-     At the end of play both East was asked why he did not bid 1♠ at his first turn. But I totally agree with the 2♦ bid - with the intention of reversing into ♠’s next go to show the power and shape of the hand. And the subsequent splinter described East’s hand perfectly.
Current club championship standings

	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	
	639.8 Per Andersson
638.4 Hans Vikman
624.7 Janne Roos
624.0 Lars Broman
612.4 Bob Short
610.8 Paul Quodomine
604.2 Paul Scully
602.2 Tomas Wikman
600.0 Sean Burgess
594.6 Bengt Malmgren
	332.2 Per Andersson
326.2 Hans Vikman
321.7 Lars Broman
318.1 Janne Roos
315.4 Paul Scully
314.8 Bob Short
313.8 Paul Quodomine
312.2 Gerard Hardy
310.9 Bengt Malmgren
310.8 Sean Burgess


Bidding Quiz Answers

Hand A:
(a)
2♦, with the intention of reversing into ♠’s next go. This is much better than a direct 1♠ as you get to show the power and shape of the hand.
(b)
4♣, a splinter agreeing ♠’s (promising four). I understand that some play this as a cue bid. I cannot see the logic, but either way is shows a good hand with four ♠’s.
Hand B:
(a)
2NT, Ogust. Here you certainly want to be in game, so use Ogust to find out more about partner’s hand.

(b)
4♥. Partner has the ♥AKQxxx and absolutely no chance of an entry if you play in 3NT. 
Hand C:
Pass. This may seem strange with eleven points, but a void in partner’s six card suit is very bad and game (in what strain?) may be difficult if you ask with Ogust and partner is maximum, and if he is minimum then the three level may be too high.
Hand D:
(a)
2NT, Ogust. Playing 2♥ as 11-15 you certainly want to be in game (possibly slam) so use Ogust to find out more about partner’s hand.

(b)
4♥. Partner has a good ♥ suit and 4♥ will probably play far better than 3NT as entries to partner’s hand may be difficult (in actual fact they did not exist!).
Bidding Sequence Quiz Answers

E
1♥
pass
2♦
pass

To Per-Ake, Paul Q and me, this is obviously a splinter 


2♠
pass
4♣


agreeing ♠’s. I understand that the club’s top player plays it as a cue bid. Either way it shows a good hand with four ♠’s and I am surprised that two of the club’s other top players had no idea what the bid meant and did not realize that partner had ♠ support.
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